NAME

DATE

1-6 Practice
Relations

PERIOD

1. Express {(4, 3), (-1, 4), (3, -2), (-2, 1)} as a table, a graph, and a mapping. Then determine the domain and range.

X y )

4 3
-1 4

3 -2 [¢] X
-2 1

Describe what is happening in each graph.

2. The graph below represents the height of a tsunami as
it travels across an ocean.

Height |/

l Time

The longer it travels, the higher
the tsunami becomes.

Express the relation shown in each table, mapping, or graph as a set of ordered pairs.

D={-2-1,3,4}; R={-2,1, 3, 4}

3. The graph below represents a student taking an
exam.

Number of
Questions
Answered

|~

l Time

The student repeatedly answers
questions and then pauses.

4. ; 5. . y
. R
s £23

4
{0, 9), (8.3, (9, 5), (9, 3), (=6, 5),

(2, _6)! (1’ 4)}

7. BASEBALL The graph shows the number of home
runs hit by Andruw Jones of the Atlanta Braves.
Express the relation as a set of ordered pairs. Then
describe the domain and range.

{('02, 35), (03, 36), ('04, 29), (05, 51),
(06, 41), ('07, 26)};

D ={'02, '03, '04, '05, '06, '07};

R = {26, 29, 35, 36, 41, 51}

Chapter 1

40

(4’ 3)’ (8’ _5)’ (8’ 7)}

6.

Andruw Jones’' Home Runs

w
c
3

[
£

52
48
44

:?:32

28
24

0

e

L]

>

‘02 '03'04'05 '06 ‘07
Year

{(_3’ _1)! (_2! _2),
(_1’ _3)’ (1! 1)’ (2’ 1)}
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NAME DATE PERIOD

2-8 Practice
Literal Equations and Dimensional Analysis

Solve each equation or formula for the variable indicated.

1.d=rt, for r r=%;t=ﬁ0 2. 6w—y=2z forw W=226+y
- - 5
3.mx + 4y =31, forx x = > m # 0 4.95 - Sg=—du,fors s=—
S.ab+3c=2x,forb b=2"%a#0 6.2p = kx —, for x x=2pk+t;k¢0
a
2 3 2 5
7.5m+a=a+r form m=_r 8.-h+g=d, forh h=5(d—g)
2 =3(x-v) 2 a=(k+q)
9.§y+v=x,fory y=3 10.;a—q=k,fora 3 q
5h-9 — 2 4
222 forx x =" r#0 1224 ¢ forp b="
2 — -5
13.2w—y="Tw-2, forw W="" 14.30+y=5+5¢,foré €="~

15. ELECTRICITY The formula for Ohm’s Law is £ = IR, where E represents voltage measured in volts, / represents
current measured in amperes, and R represents resistance measured in ohms.

a. Solve the formula for R. R = ?

b. Suppose a current of 0.25 ampere flows through a resistor connected to a 12-volt battery. What is the resistance in
the circuit? 48 ohms

16. MOTION In uniform circular motion, the speed v of a point on the edge of a spinning disk is v = an, where r is the
radius of the disk and ¢ is the time it takes the point to travel once around the circle.

a. Solve the formula forr. r= ;—v
T

b. Suppose a merry—go—round on a playground is spinning once every 3 seconds. If a point on the outside edge has a
speed of 12.56 feet per second, what is the radius of the merry-go-round? (Use 3.14 for.) 6 ft

17. HIGHWAYS Interstate 90 is the longest interstate highway in the United States, connecting the cities of Seattle,
Washington and Boston, Massachusetts. The interstate is 4,987,000 meters in length. If 1 mile = 1.609 kilometers,
how many miles long is Interstate 90? gabout 3099 mi

Chapter 2 52 Glencoe Algebra 1



NAME DATE PERIOD

2-5 Practice
Solving Equations Involving Absolute Value

Evaluate each expression if x=-1,y =3, and z = 4.

1.16—[2z+1] 9 2. [x-yl+4 8

3.[3y+zl-x 14 4.3 z—x| + 12—yl 10

Solve each equation. Then graph the solution set.

5.2z-9=1 {4, 5} 6.3-2r1=7 {-2, 5}
5 43210 1 2 3 4 5 5 4-3-2-10 1 2 3 4 5
7.3t+6/=9 {51} 8.2g-5=9 {~2,7}
—————————— 1
—5—4-3-2-4 1 2 3 4 5 -2-101 2 3 4 5 6 7 8

Write an equation involving absolute value for each graph.

-——— 11—t ——————————+

9. 1 2 3 4 5 6 7 8 9 10 11 10. 8—7-6-5-4-3-2—-10 1 2
x-6|=5 x+ 4 =2

—————F——+—+—— { —— 11—

11. -8—7-6-5-4-3-2—-10 1 2 12, 32101 2 3 4 5 6 7
x+ 3| =4 |x-2|=4

13. FITNESS Taisha uses the elliptical cross—trainer at the gym. Her general goal is to burn 280 Calories per workout,
but she varies by as much as 25 Calories from this amount on any given day. Write and solve an equation to find the
maximum and minimum number of Calories Taisha burns on the cross-trainer.

|c - 280| = 25; min = 255 Calories; max = 305 Calories

14. TEMPERATURE A thermometer is guaranteed to give a temperature no more than 1.2°F from the actual
temperature. If the thermometer reads 28°F, write and solve an equation to find the maximum and minimum
temperatures it could be.

|t - 28| = 1.2; min = 26.8°F; max = 29.2°F

Chapter 2 33 Glencoe Algebra 1



¢ Understanding

@ = Stop:by:step Sofutions bogir on page A1)

" Determine whether each equation is a lHnear equation, Write yyes or no,
pamP 1t vos, write the cquation in standard form, ' yes; 2x— y==5

o e YOSI2X)y e ] S
{ x=y- a - 2 =2y = 3= [ g_y Ay 62 yes, 4, }X ) FI"/ ~9
yes; Xx—y==3 y=1 b )
. ovind they-and y-intercepts of the graph of each linear function. 6.12, ~24; The xintercept
Prome Describe what the intercepts mean, 12 means that after 12
Increasing Temperat ~seconds, the scuba diver
S ncr o g ‘p _fa_Wuf 6. Position of Scuba Diver is at a depth of 0 meters,
| v reesmman  0r at the surface. The
SN S U (O A SO SO Depth (m) ™ ) surface. Ine
: // y-intercept —24 means
= [T 11114 S that at time 0, the
E s 10 15 20725 30 35 0 = scuba diver is at a depth
£ P — 3 —18 of —24 meters, or
E -2 ‘—7) 6 12 24 meters helow sea
" = 9 _5 level.
N
12 0

Time (min)

5. 25, —4; The x-intercept 25 means
that after 25 minutes, the
tomple £ Graph each equation by using the x- and y-intercepts. le_mperature is 0°F. The )
y-intercept —4 means that at time

T.y=4+x 8.2x—5y=1 0, the temperature is —4°F.

7-8. See Ch. 3 Answer Appendix.
fample 5 Graph each equation by making a table. 9-11. See Ch. 3 Answer Appendix.

9. x+2y=4 10. -3 +2y=-5 Mn.y=3
12. @S, REASONING The equation 5x + 10y = 60 represents the CRAMPBIONSHIR
number of children x and adults y who can attend the rodeo Rf NN j@
for $60. b IllmlI-
- -1 | C 1 tl < t'On. i
: a. Use tl?e x- and y-intercepts to graph the equati See margin. Children 12 And Under $5 '
’ h. Describe what these values mean. Adults $10

The x-intercept means that 12 children and 0 adults can attend for $60., S—
The y-intercept means that 0 children and 6 adults can attend for $60.

Ext;Ja'Practice iS 0N page R3:
Bampis | Determine whether each equation is a linear equation. Write yes or no. If yes, write
the equation in standard form. i
63 5X+y2=25 no 14-8+y=4x1v1x’—y=8 15. 9xy — 6x =7 NO
16, 4y +9 = —4 no 17. 12x = 7y — 10y 18. y=4v +x yes;Sx—y=10
yes; 4x+y=10

i Exam Ak - )
P® 2 Find the x- and y-intercepls of the graph of each linear function.

BTN} 3,4 20-““"'2’2
‘1_" Ax43y =12 1 -3 -
LN Ein
I I N O O =1 [T
Jol TN 0] 2
3

{‘connectED.mcgmw-hill.comI 159 LH)

Scanned by CamScanner




Additional Answers (Guided Practice)
5A.

S
A
Y Ixy

Additional Answer

12a.|

=
— 14 X,
12—ttt

‘ connectED.mcgraw-hilI.com
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Example 4

Example 5

@ 160 | Lesson 3-1 | Graphing Linear Equations

- i 1 > i hl t
{ y-intercepts of each linear function. Describe what the
and Y-

8:4; The
X-intercept g
means that jt

Find the y-
illtCl‘CCpm meart. 20. The
pescant of Eagle ' o eent

- y-intercep

21,
sents the
o repre : o0k Eva
€1 pumber ol minut
£ seconds that it ; utes to get
2 10 takes the eagle ome. The
o L to land. The y-intercept
12343567 yintercept 4 means that
Timef represents the Eva was initially
initial height of X miles from
the eagle. ome.
Graph each equation by using the x- and y-intercepts. 93-28. See margin.
23, y =4+ 2x 24, 5—y=—3% 25, x =5y +95
2. x+y=4 27. x—y=—3 28. iy =8 —6X
Graph each equation by making a table. 29-34, See Chapter 3 Answer Appendix.
29, x=—2 30. y=—4 31, y=—8x
33.y—-8=—x 34. x=10—y

32. 3x=yY
tion can be given

vatch a singing competi
s who saw the

TV RATINGS The number of people who v
ber of people in million

by p = 0.157, where p represents the num
show and v is the number of potential viewers in millions.
35a-h. See Chapter 3

a. Make a table of values for the points (v, p)- A A di
nswer Appendix.

b. Graph the equation.

¢. Use the graph to estimate t
14 million potential viewers. ~2.1 million

d. Explain why it would not make sense for v to be a negative number.
There cannot be fewer than 0 viewers.

ch equation is a linear equation. Write yes or no. If yes,
form. 38. yes; 6m—7n= —4
P 2y
37. 5 =10 + 5 yes; 3x—4y=1~60
39.3c+b—-2=0byes;3a=2

L 2r — = 3m _ 2
40. 2r — 3rt + 5t =1 N0 41.7_%_—5\,83,9,"_3”:_60

he number of people who saw the show if there are

Determine whether ea write
the equation in standard
36, x + % =7 no

38. 7n — 8m =4 —2m

42. FINANCIAL LITERACY James earns a monthly salary of $1 issi
$125 for each car he sells. g y of #1200 and a commission o
a. Graph an equation that represents how much James earns in a month in which

he sells x cars. See Chapter 3 Answer Appendix.
b. Use the graph to estimate the number of cars James needs to sell in order

to earn $5000. about 30 cars 8
G . ) 49. No; Saml}ng{t
raph each equation. 43-48. See Chapter 3 Answer Appendix. answe“dM
43, 25x —4 =y 44, 1.25x +75=y 45. y + l.,-3 ;:;;’0:1115
2 T s
46. Zx +y = =7 47. 2x —3 =4y +6 48. 3y _57 — 4y + 1 Johnson ha;;
' 51601057

-

49, (CSYREASONING Mrs, Johnson is renting a car for vacation and pla dri l
of 800 miles. A rental car company charges $153 for the week irI?c; ns'to aves ot
and $0.23 for each additional mile. If Mrs. Johnson has only $160 fo ;;g 7(;)0 m:i‘es

na on e

rental car, can she afford to rent a car? Explain your reasoning

Scanned by CarhSéanner




Additional Answors
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a.

b.
¢. Find the x- and y-intercepts of the graph. Wh

and $20 for admission alter 6 p

S pdbRcharpges
' .|\1.()nH.1|un|.|y,
Write an equation that represents
sold. Leta represent the ad s
admissions sold after 6 v, 20,000 = Ol x - 20y

D0 for admission be
the park took in a tot
Che number of admissions
tong sold before 6 )

Graph the equation. b-¢. See Chapler 3 Answer Appendix

Find the x-intercept and y-intercept of the graph of each equation

@5.\'+3y= 15 3;5

54 61 +2y = 8 1%; 4

52. 2x=ZFy=14 Tv=d

55-}/=%x—3 12; =3

frm»

6.8,

al of 20,000,

that may have been
Mo and et iy reprosent the

at does cach interccpt represent?

53. 2x—3y =5 21. _12
Y 2 13

5.y =Jr+1 111

57. ONLINE GAMES The percent of teens who play online games can be modeled by

}J

15

Tt 66. p is the percent of students, and f represents time in years since 2000.

a. Graph the equation. See Chapter 3 Answer Appendix.
h. Use the graph to estimate the percent of students playing the games in 2008. 96%

@ 58. &5 MULTIPLE REPRESENTATIONS In this problem, you will explore x- and y-intercepts

58¢. Lines that
are neither
vertical or
horizontal
cannot have
more than one
Xx- and/or
J-intercept.

58. Sample answer: | was ahle to draw a line with
no x-intercept and a y-intercept. | was unable to draw a line with 2 x-

H.0.T. Problems

59, (053 REGULARITY Copy and complete
show a linear relationship. Explain.

é, Sample
answer:

of graphs of linear equations.

a. Graphical If possible, use a straightedge to draw a line on a coordinate plane

with each of the following characteristics. See Chapter 3 Answer Appendix.

x- and y-intercept

Xx-intercept,
no y-intercept

exactly -
2 x-intercepts

no x-intercept,
y-intercept

exactly
2 y-intercepts

b. Analytical For which characteristics were you a

characteristics were you unable to create a line? Explain.
¢. Verbal What must be true of the x- and y-intercepts of a line?

Use Higher-Order Thinking SKills

/=8

horizonta
line

3 12

b2, Sample

4 16

answey:
Vertical
line

8.5
ample  OPEN FNDED Give an example of a li
condition. Then describe the graph

answey:

-y .
|iney‘-u’61' A=(

thl'(]u h
(0, n)g °

-
2

_———3‘—"‘

R
4

ble to create a line and for which

an x- and a y-intercept, an x-intercept and no y-intercept, and
intercepts or 2 y-intercepts

cach table. State whether any of the tables
See margin for explanation.

16

62. B=0

4. WRITING IN MATH Explain how to find
summarize how to graph a linear equ

60. REASONING Compare and contrast the graphs ofy =
{1,2,3,4} and y = 2x + 1 with the doma

near equation of th
of the equation.

the x-intercept
ation. See Gh

1

2
___._g—/
__,_T——

2y + 1

with the domain

in of all real numbers. See Chapter

3 Answer Appendix.

e form Ax + By = C for each

63. C=0

and y-

apter 3 Answer

intercept of a graph and

P

| CO

nnectwhlll.com

Appendix.

161
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Examples 1-2 Solve each equation by graphing. Verify your answer algebraically.

1.-2x+6=014 2. ~x—=3=0 -3
PRSI Jr 'I_ () ..0:[ .—.1
3. 4v—2= > A, 9x + 3 =10 1
5. 2v — 5 = 2v -+ 8 no solution 6. 4x + 11 = 4x — 24 no solytigy
7. 3x — 5 = 3x — 10 no solution 8. —6x +3=—6x+5 nosolutigp
! 9.

NEWSPAPERS The function w = 30 — 2n represents the weight w in pounds the
papers in Tyrone’s newspaper delivery bag after he delivers n newspapers, andC
the zero and explain what it means in the context of this situation.

Tyrone must deliver 40 newspapers for the papers in his bag to weigh 0 pounds.

Bractice antd/Prohlem|Solving

12, no solution 13. nosolution ~ 17. no solution 18. no solution

Solve each equation by graphing. Verify your answer algebraically.

10.0=x—-55% 11.0=x+3 =3 12, 5 —8x =16 — 8%

13, 3x — 10 = 21 + 3x 18, 4x—36=0 0 15, 0 = 7x + 10 —%orq%

16. 2x +22=0 —11 @) 5x—5=5x+2 18, —7x +35=20—7x

19, —4x—28=3—4r  20.0=6x—8 2or1l 21 12x + 132 = 12¢ — 100
no solution 3 3

no solution
TEXTING Sean is sending texts to his friends. The function y = 160 — x represents

the number of characters y the message can hold after he has typed x characters.
Find the zero and explain what it means in the context of this situation. See margin.

»

Example 3 22.

23. GIFT CARDS For her birthday Kwan receives a $50 gift card to download songs. The

function m = —0.504 + 50 represents the amount of money  that remains on the
card after a number of songs d are downloaded. Find the zero and explain what it
means in the context of this situation. 100; She can download a total of 100 songs

before the gift card is completely used.
D Solve each equation by graphing. Verify your answer algebraically.

24, —7 =4x +1 —2 25. 4 — 2x =20 —8 26.2—5r=-235

27. 10 — 3x =0 1p-ur3% 28. 15 + 6x = 0 —2

—o] — , 34 o
| 5 O 22 2. 0=13x+34 —33 0=
5 s 3
= —10 2 1. 25x — 17 =0 =L - |
30. 0 =22x—10 11 3 X 0 25 32. 0 > T3 T3
33. 0= _i _%x —185 o 1—; 34. 13x +117 =0 -9 35. 24x—72=0 3

36. SEA LEVEL Parts of New Orleans lie 0.5 meter below sea level. After d days of rain

the equation w = 0.3d — 0.5 represents the water level w in meters. Find the zero,
and explain what it means in the context of this situation. See margin.

7z 37. @521 MODELING An artist completed an ice sculpture when the temperature was
@ —10°C. The equation t = 1,25k — 10 shows the temperature # hours after the
sculpture’s completion. If the artist completed the sculpture at 8:00 a.ar., at what
time will it begin to melt? 4:00 P.M.
38-43. See Chapter 3 Answer Appendix for graphs.
Solve each equation by graphing. Verify your answer algebraically.

38. 7 —3x=8—4x 1 39, 19 +3x=13+x —3  40. 16x + 6 =14x + 10 2

1 =3x—102 43 3y 1 9 or 1+
a1, 15x — 30 = 5x — 50 —2 42, 5x —5=3% ax—m=Lly-s Jorly

166 | Lesson 3-2 | Solving Linear Equations by Graphing
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Additional Answers

22. 160; The text message is full after
oean has typed 160 characters.

36. d= 1.67; The water level in New
Orleans has reached sea level after
about 1.67 days of rain.

48. Sample answer: [t is better to solve
an equation algebraically if an
exact answer is needed. It is better
to solve graphically if an exact
answer is not needed.

50. Sample answer: To solve a linear
equation algebraically, solve the
equation for x. To solve a linear
equation graphically, find the
related function by setting the
equation equal to zero. Then, make
a table and choose different values  —
for x and find the corresponding |
y-coordinate. Determine where the
graph intersects the x-axis. This is
the solution. If the graph does not
intersect the x-axis, there is no

solution.

S

e

166 | Lesson 3-2 | Solving Linear Equatio
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4. HAIR PRODUGTS Chemical hair stradghtening
e )
and smooth. The percent of the Process left (o complete is maodelec) by

- 3 K . r VY «
p L..T! F 100, where Fs the time in minutes that the solution is Jeft
on the hair, and prepresents the percent of the process o :

makes curly hair straight

ft to complete,
a. Find the zervo of this function, 8

b. Make a graph of this situation. See Chapter 3 Answer Appendix.
¢. Explain what the zero represents in this context. 44c. The solution

d. State the possible domain and range of this function. must remain on
. D:{t|0<t<8), R:{p|0 =< p=<100) the hair for
@ MUSIC DOW.N.LOADS In this problem, you will investigate the change between 8 minutes to
two quantities. he completely
effective.

a. Copy and complete the table.
SNumber ot Songel | ETotaicost otal Coet

Downloaded 75| 7 ($) 1 | Ntmber,of Sorgs Downloadeds
4 8 2
6 12 2
8 16 2
10 20 2

b. As the number of songs downloaded increases, how does the total
cost change? increases by 4 for each 2 songs downloaded

¢. Interpret the value of the total cost divided by the number of songs
downloaded. It costs $2 per song to download.

H.O.T.Problems  use Higher-Order Thinking Skills

4. Koko;
Clarissa dig
not subtract
the 5 from
Eath side of

12 equation.

46. ERROR ANALYSIS Clarissa and Koko solve 3x + 5 = 2x + 4 by graphing the related
function. Is either of them correct? Explain your reasoning.

Clarissa ‘_f Koko
X+5=2x14 : X +5=2x+4
X+5=4 J | bs ‘ ’ X +5=4 ‘)' /‘”1 E
= /11
y=xt5+4 Ifi/ 1 x+1=0 R
T | H
- | | | | g
)/:X-/-7 //V; | )/—-X-+T f__r—éj_—i—,_j
X=-9 ‘ /’ i ‘ x =-1 ygo z ( ; "
L X - | = S SER SN
A5 ¢-4 0| 2 4x| | |
/ | | { g
/ -1 | i)
|4 i e o

4 CHALLENGE Find the solution of 2(x + 3) = 3(x + 5) by graphing. Verify your
so!ulion algebraijcally. 3 :

48, @TOOLS'EXPIain when it is better to solve an equation using algebraic methods
and when it is better to solve by graphing. See margin.

. ?PEN E NDED Write a linear equation that has a root of —é. Write its related
Hnction. Sample answer: 3 + 4x = 0;y=3+4xor{x)=3+4x

50, ! r
WRITING In MATH Summarize how to solve a linear equation algebmlcall)
and graphically. See margin,

o connectED.mcgraw-hill.com
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0 0 2
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V| 0= 045V |8 | v p)
0 [ p=0150) | 0 (0,0)
2 1 p=0452) | 03 | 2,03
AL p=0154 | 08 | 408
6 p=10.156) | 09 (6,0.9
8 | p=015@) | 1.2 | (3,12
10 | p=0.15100 | 1.5 | (10,1.5)
35bl
People Who Watched
Singing Competition
T T T I T T 1]
I L]
w I
52 ([ A
a o | | |
52 [ [ [ A1 ]
EE Hy4EN
_5“ A1 111
T
pd N
"] ] | ]
0 12 3 456 7 89
Potential Viewers
42a. James’ Commission
y A
5000 /l/
/
4000
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2000
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1000
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answer:

noa. gample x-intercept, no y-i
, S ‘ _intercept » N0 y-interg
45. [Tyl ] T 1] 46. | x-and y int p v ent
sinnEEEn 2 A
H 15 " ‘ =11 i ‘ - ) -
“’(')f; R —4 jo_p 4X
Ld 91—t t—1 T K\ —?
| + 6 { + ‘o‘ { «‘ { —“‘1 | e
S ] N o~ o -
T W | —8 w\, _
[T10] 3 6 9 1215182 N R ST o N l
‘ . LIl I S Ly
i N i R L
. T TR ] 48 el u o x-intercept, y-ntercep! .
aunEEEEEEE R AR Y cannot draw lines
R ji:_g: I N NS Se o e with 2 x-intercepts or
I AT with 2 y-intercepts
| |O Pprad X T [ 7 - ] /—"—" ->
1 | LT ] “36-4/0| 2 468X -— 0l X
] d —2] |
:77 —4]
1 nd H
S Amusement Park 60. Sample answer: The first grap!‘l isa S(_at of points.that are net
Admissions connected. The second graph is of a line. The points of the firt
1000 K57 graph are points on the line in the second graph.
900 —
3 80 \ — 64. Sample answer: To find an x-intercept, let y = 0 and solve
S 700 N\ the equation for x. To find @ y-intercept, let x = 0 and solve
£ 60 N the equation for y. To graph most linear equations, plot the
3 s seintercept and y-intercept and connect the points to form alr:
£ 40 N Another way to graph an equation is to choose any valug
fg 300 \ in the domain and create ordered pairs. Plot the ordered pars
= 200 \ and connect the points to form a line.
100 —
I
0w %% Lesson 3-2
Early Admissions Sold 38. y 39. [ T | yT 11
- ] 1
50¢. 400; 1000; The x-intercept represents the number of HERERS
admissions sold before 6 P.m. when no admissions are I
sold after 6 p.m. The y-intercept represents the number of 5 HE F —
admissions sold after 6 p.M. when no admissions are sold ad ’,_QL:/
before 6 P.M. F_.‘L/
T
. T
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Time (min)
Extend 3-2
1. / 2, 7
[-10,10] scl: 1 by [—10, 10] scl: 1 by
[-10,10] scl: 1 [—10, 10] scl: 1
& A wF
\ A
R 1\
" /
[~10,10] sc: 1 by [—10, 10] scl: 1 by
[~10,10] . { [—10, 10] scl: 1
5. R
: 6.
ﬂ_,_,-'-"'d,ﬂ }
I SN
[~
[\18"0] scl: 1 by [—10, 10] scl: 1 by
10 scl: 1 [—10, 10] scl: 1

11.

Lesson 3-3

.r‘;

(—10,10] scl: 1 by
[—10,10] scl: 1

(=10, 10] scl: 1 by
(—10, 10] scl: 1

10.

/

fo f I
/| / J

[

[—10,10] scl: 1 by [—10, 10] scl: 1 by
[—15,5] scl: 1 [—20, 5] scl: 1

12.

[—10,10] scl: 1 by
[—5, 15] scl: 1

[—36, 8] scl: 4 by
[—20, 4] scl: 2

20. Yes; the rate of change is constant.

21, No; the rate of change is not constant.

22. No: the rate of change is not constant.

23. Yes; the rate of change is constant.

47a.

A7b.
47c.

Michael Redd’s PPG

y A
2
‘ 7N\
/W" \
N

(&3
~
1
¢

Points Per Game
=

[ @ T

EEEERN

23 45 6 7 8%

Season
Season 1 to Season 2; Itis the steepest part of the graph.
The rate of change was much more dramatic or steeper in the
first four years, it leveled off the next three seasons, and was
negative and steeper the last two seasons.
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